s

Questions 1 to 10 carry 1 miark each. Questions 11 to 15 carry 2 marks each.
For each question, four options are given. One of them is the correct answer.
Make your choice (1, 2, 3 or 4). Shade the correct oval (1, 2,3 or4)on the

Optical Answer Sheet. (20 marks) .
1 2021021=2000000+2% | T+ 1021,
What s the missing number-in the box?
(1) 1d -
@ 100
(3) 1000
(4) 10000,

2 Which of the following is the same as 7030 mé ?

(1)
(2)
3)
(4)

7! 3mt
7£30mt
70t 3me
701 30 ml

3 Which digit in 31.507 is in the tenths place?

M
@)
(3)

" ).

1
0
3

5.

2 (Go on to the next page)
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Which one of the following is the closest estimate of 14.8 x 38.4?

(1
2
(3)
(4)

15 % 38
15 % 39
14 x 38

14 x 39

-gof Aii's marbles are blue and the rest are yeliow.

What percentage of Ali's marbles are blue?

(1)
2)
(3)
(4)

37.5%
40%
60%
62.5%

- XYZis an equilateral triangle. WZY is a straight line and WV is paraliel to

ZX. Find Za.
(1)  60°
Vv
2) 120°
(3) 270° |
a
(4 300°

www.geniebook.com
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Which of the following fractions is closest to 1?7
(M
()
@)

4)

ol oo wis Bl

ABCD is a rectangle. E is the mid-point of AB and LDEC = 78°.
Find £ZADE.

(1) 39° | A E B
L - 14

{2) 45 o / 78°

3 51°

(4) 78 5 -

Chee Seng packed 216 pens into 3 boxes. The ratio of the number of pens
in box A to the number of pens in box B to the number of pens in box'C is
1:3:4. How many more pens were there in box B than in box A?

(1) 27

(2) 54
3) 81
@) 108

4 (Go on to the next page)
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10

11

{1} 25min
{2) 50 min
3) 1h 5min

In the programme guide shown below, one programme leads to ancther

without any break in between.

Start Time Programme
215p.m. Magic Show
2.45p.m. Art and Craft
4,00 p.m. Music Appreciation
4,50 p.m. Cooking Class

How much longer s the Art and Craft programme than the M
Appreciation programme?.

4) 1h15min

The average mass of 3 bags of rice is 10 kg.
A fourth bag of rice weighing 6 kg is added to the total mass,
What is the average mass of the 4 bags of rice now?

(1) 9kg
(2) 8kg
(3 7kg
(4) 4kg

5 {Go on tg
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12 The table shows the charges for bicycle rental.

% RENTAL RATE FOR 1 BICYCLE

For the first 2 hours . ‘ $3.50

$1.20

For every additional % hour

Dinesh rented 2 bicycles from 4 p.m. to 7 p.m. How much did he pay?

(1) $590
(2 $8.30
(3) $11.80

(4)  $16.60

13 ABCD is a rectangle. AE Is twice of ED and AE = AB.‘
What fraction of the figure is shaded?

M 3
@ 3
® 3
@ 3

6 (Go on to the next page)
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14

18

(1) 1030 a.m.
(2) 10.33am.
- (8)  10.42am.
“{4) 10.54 am.

A pair of sandals costs $w in a shop. The cost of a pair of boots is $25
more than the cost of 3 pairs of sandals. Find the cost of 3 pairs of boots.

(1) $3w

2) $(3w+25)
(3) $(w+75)
4)  $(Ow+75)

A printer started to print a set of documents at 10.00 a.m.
At 10.24 a.m., half of the set of documents was printed.

At what time would % of the set of documents be printed?

7 (Go on tp Booklet B)
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Questions 16 to-20 carry 1 mark-each. Write your-answers in {te spaces . Do not write
provided. For questions which require units, give your answers in the units in this space
stated. (5 marks)

16 Find the value of 0.78 x 80.

Ans:

47 A number has 7 factors. Five of its factors gre 1, 2, 4, 16 and 64.
What are the other two factors? v

.- Ansl _and. ‘

18  in the number line below, AB =BC. Whatis the fractlon at pomt B?
Give your answer in the simplest form.

A B C
| i |
| | A
3 ? 1
10 6
Ans:
2 {Go on to the next page)
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. Yy _ Do not write
19 Find the value of 2y 5 wheny=7, In this space

Ans;

20 Inthe grid below, Siti is standing at Point P, facing North. She 1
225° fum anticlockwise, and then a 90° turn clockwise.
Which point is she facing now?

nakes a

EJF

Ans: Point

3 (Go on to the next page)
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Questions 21 to 30 carry 2 marks each. Show your working clearly and write
your answers in the spaces provided. For questions which require units, give
your answers in the units stated. . -(20 marks)

24 - JKLMis a rectangle. Find the shaded area..’

5cm
3 1

"
.

8em

Ans: cm?

22 . The figure below is'made up-of a'square and an equilateral triangie.
The area of the square is 81 cm?. Find the perimeter of the figure.

Ans: cm

4 {Go on to the nexi page)
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Three classes of pupils sold second-hand books for charity.
.‘They collected $7 for each fiction book and $5 for each picture book.
The table shows the number of books soid by the three classes.

Do not write
in this space

15

Which class collected the most maney and how much was it?

Ans: Class 8

The sofid'ﬁgures below are made up of 1-cm cubes. How many
1-cm cubes must be removed from Figure X to form Figure Y?

Ans;

5 {Go on to the next page)
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. the iine AB has been drawn for you. ' Do not write
28  in the grid below, the iine AB has | i this space

{a) Draw an isosceles triangle, such that AR = AC.
‘Labe! point C cleariy.

(b) Measure BC. '-

\

Ans: (b) _om

26 | The figure shows a semicircle and 2 quaftar circles drawn inside a
square. Find the area of the shaded region.
Express your answer in terms of o

6 {Go on to the next page)
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27 © MrsLim bought some apples. She gave the fruit seller $50 and

Do‘riot write
received $14 change. How many apples did she buy?

in this space

Ans:

28 ABCDIis a parallelogram and AD = AE. Find ZDAE.

- «;‘ .

A

-
s ol
i

7 (Go on to the next page)
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29 Mrs Chan paid $600 for a vacuum cleaner after a discount of 25%. Do not write
What was the price of the vacuum cleaner before discount? in this space

- SALE
25% discount

e TeviTiiaye.,

Ans: $

30  The puplls In a school are divided equalfyinto Group X and Group Y.
The ratio of the number of boys to the number of girls in Group Xis3:1
and in Group Y, itis 1: 2. What is the tio-of the total number of giris to
the total number of pupils? :

Ans:

8
End of Paper
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Questions 1to § carry 2 marks eac’h ' Show your working Cleary and write
your answers in the spaces provided. For quesﬁons which require units,
give your answers in the units stated. {10 marks)

ured into an empty jug which has a

volume that is three times that of théfcup:“éWhat fraction of the jug is filled

with water?

A cup 1s§ filled with water. It is then

DEFG is a thombus. Hd is pamliéi to DE and GF. ZGDE = 86°.
Find ZHKE.

Do not write
in this space

The length of each side of a cube is 12 m. The volyme of the cube is thce
the volume of a cuboid. Find the volume of the cuboid. : :

12m cubod

Ans: m?

2 {Go on to the next page)
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The ratio of the number of ten-cent coins to the number of twenty-cent coins| Do not write
in a purse was 3 : 5. When 60 twenty-cent coins were removed, there were | in this space
an equal number of ten-cent coins and twenty-cent coins. How many

ten-cent coins were there in the purse af first? |

Ans: -

The figure is made up of a 3 quarter circles and a rectangle.
O is the centre of the circle and the diameter of the circle is 14 cm.

Find the perimeter of the figure. (Take = % )

50 cm

Ans: cm <

3 (Go on to the next pagé)
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* For questions 6 to 17, show your working clearly and wiite your answersinthé | Do not writs
- gpaké provided. The nurnber of marks available is shown in brackéts [ ] atthe in this spac
end of each questioh or part-question. - ' (45 marks) g
6 PQ is parallel to SR. TR is perpendicular to SRandPRis perpéhaicmér to
RQ. Find £TVR.
T
a1°
P U, Q
57°
\Y
S R
Ans:i__ - I3

7 Meiling bought% m of ribbon to make some bows. She needed 33_% m of
. ribbon to make one bow. . S

(a) How many bows can she make?
(b} Wliai was'thé‘length of ribbon left? Give your answer in the simplest form.

. Ans: (a) 1]
(b) {2
4 (Goonto tﬁe next page)
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-8 Thmeteadmmammpanmﬁagmpefsa 0 '
Puplls fo an amusement park; Do riot-write
The ticket for-a child cost $y, Anaduﬂthkatm&mma : i[d_‘gmﬁ in tHis space
{a) Find the total amount paid for afl, Express- fy,

Ans: (@) 2 1
(b) 2]
S (Go on to the next page)
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8 mmmmmmmmmmmmm Do not write

January fo June. . . in this space
Number of Tracksuits Sold
80
° v
70 /
g /
2% /
40
ol -
S ——
Z 10 "
O T ommry  Febwary  Mach  Apdl May June
Months -

(b) What was the peraamagé?mmihmésa%éufﬁekauhmm May to
June?

Ans: (3) and __ {1l
() . 2] ]

8 | (Go on to the next 7 “3e)
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10 * The table and the bar graph beiow show the
pupiis in the-different CCA groups. The pe

Clubs was covered by a biot of ink.

» distribution of all Primary
r'f:ehtag_e of pubf}s who |

Types of CCA . Percentage of pupils |
Uniformed Groups ; 27
Performing Art 18

Clubs ﬂ '
Sports A ' 30

140

120 ]

8

Number of pupils
*]

——r

Types of CCA

(a) What was the total number of pupils in Primary 57
(b) Draw the bar in the graph above for the number of pupils in Club

Uniformed Groups _Performing Arts " Clubs

Ans

:(a)

Sports

s. [2]

5 Do not write

joined in this space

[2]

www.geniebook.com
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11 During a sale, Ban Meng bought 10 identical plates. His aunt bought & such | Do not wri
plates. She also bought 4 mugs at $3.20 each. Altogether, she spent $2.40 | in this spar
less than Ban Meng. How much did Ban Meng and his aunt spend
altogether? .

Ans: o .13
12 Ina testtheaw:aga class score was-77 marké.:Mr Lim discoyéred that he
had recorded 14 stuidents’ marks wrongly. After‘adding 3 marks'to each of
these students, the average class score became 79. How many students
. were there in the class? : : o
Ans: [3]
8 (Go on to the next page)
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13 The solid below Is made up of 13 1-cm cubes. Do not write

) . in this space
. (&) Draw the Front view and Top view of the solid in the grid provided.

(b} The whole solid is completely dippéd into & pot of red paint.
Find the total area of the solid that has red paint.

Top view

W

Front view Side view

Frontview  [1] Top view 1

Ans: (b) 2]

9 {Go on to the next page)
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14

The square QRST is made up of fwo reclhhgles and a square
The ratib of the area of Rectangle A to the area of Rectangle E

3is 5:3.

The ratio of the area of Rectangle B to the area of Square Cig2:3,

The area of square QRST is 625 cm2. Find the breadth of Rec

&

Q . R

tangle B.

M

Do not write
in this space

10 {Go on to the next page)
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15. ABCD is a.square and BCE is an equilateral triangie. : ?"t}"f"t write
. S Spa

AEFG is a trapezium and AG is parallel o EF. i spacs

(a) Find £ EAC.

B
{p) Find £ CEF.
H 3
D ' c ) F
Y.
Ans: (a) : [2]
(b) \ {11

{¢c) The figure above is not drawn to scale. Each of the statements below is
either true, false or not possible to tell from the information given.
For each of the statement, put a tick {v') to indicate your answer.

ABEC is a trapezium.

#CEF is greater than ZEFG.

ZECG + ZFGC = 180°

2]

11 (Go on to the next page)
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The figure is made up of shaded and unshadedsquarss.

Figure 2

.........

Figure 4

Figure Number of Number of Total nur'nLeber of
number shaded squares | unshaded squares squares

1 3" 4|

2 3~ g

3 10 16

4 15 10 p 25

5 {ai) (aii) 36

(a)-Complete the table for Figure 5. 1]

(b} There are a total of 81 squares. How many shaded and unshaded

squares are there?

Ans: (b) Shaded

Unshaded _

— 3

12 .

www.geniebook.com
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47  The figure below shows a circle enclosed in a square, WXYZ, of side 40 cm. it pace
in this space

WP = PX and ZQ = QY. Find the area of the shaded parts. (Take = =3.14)

Ans: {5l

13
End of paper
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ANSWER KEY

Total Pupils -— 12 + 12 = 24
G:T=11:24

BOOKLET A (PAPER 1)
Ql 4 Q2 2 Q3 4 Q4 1 Q5 3
Q6 4 Q7 3 Qs 1 Qs 2 Q10 1
Qi1 1 Q12 3 Qi3 1 Q14 4 Qi1s 3
BOOKLET B (PAPER 1)
Ql6 |62.4 Q17 8 and 32
2 7
Q18 = Q19 2x7- -
=14- -:-
=14-1.4=12.6
Q20 | PointH Q21 36 cm2
Q22 |9+9+9+9+9=45¢cm Q23 |ClassB,$142
fiction—6x7=42
Picture — 20 x 5 = 100
1 Total -~ 100 + 42 = 142
Q24 |Total~9x4=36 Q25 a)
Total~9+5+1=15 .
36-15=21
T
b) 3.6cm
Q26 (100-mx5x5=(100-25 ) Q27 |4apples=$9
| 36 +9=4
, 4x4=16
Q28 | 180°-106°= 74° Q29 100% - 25% = 75%
<DAE - 180°-74°-74° = 32° 75% - 600
25% — 600 - 3 = 200
100% — 200 x 4 = $800
Q30 |Totalgirls—-3+8=11 ‘
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PAPER 2

b) 5+3+4+243+4+3+4+42+3+44342

=42cm2

(@1 |vol of water injug > = + 3 Q2 | <KHD — 180° - 86° = 94°
2 <HKE — 360° - 94° - 47° - 86°
“1s =133°
Q3 Vol of cube - 12x12 x 12 Q4 |5-3=2
= 1728 2u =60
Vol of cuboid — 1728 +2 lu=60-+2=30
=864 m3 3u=30x3=90
Q5 |3arc »%x3x14=33 Q6 | 180°-57°=123°
tas2s=7 123°-90°=33°
507 =43 180° - 41° - 90° = 49
Perimeter - 33 +50+7 + 43 1800 - 490 -33 °=98
- 133 cm 180° - 98° = 82
Q7 a) 1bow= .;a Qs a) 3T +38P
7. 3 _.5 =3A +38C
372" ANS:5 1c—Y
b) Sx%% 38c - Y x 38 = 38y
Lefe —2-3 = Xm 1IA-Y+2
8 4 8 3A - (Y+2) x 3 = 3Y+6
Total -38Y+3y+6
= $(41Y + 6)
b) 41Y +6=211
41Y=211-6=205
(1c)Y = 205 = 41=$5
Q9 a) Total -50 +40 + 30 +40 +20 + Q1o a) 27+18+30=75
80 =260 75% — 108 + 72 + 120
Average — 260 + 6 = 43.; =300
ANS : January and June 25% -- 300 + 3 = 100
b) 80 -20 =60 La!l p5) 100% -- 100 x
60
70 x 100 = 300% = 400
b} Clubs — 400 - 108 -
72 -120 =100
Q11 |76-2.40= $73.60 Q12 {3x14=42
79~-77=2
42 +-2=21
Qi3 a) Qla |6 +3=2
3+2=5
Em
u=25 +5=5

2u=5x2=10cm
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Q15 a) LBX-9060) o Q16 | ai) 15
2 -e
45°-15° = 30° aii) 21
b) 180° - 45° - 60° = 75° b) 81 - 9=72
180° - 75° = 105° 72 +2=36
¢) False 81-36=45
. Not possib[e to te“ Shade{i 45, UnSHBdEd 36
] False
Q17 [3.14x20x20=1256

(moo:zss) =86

§x40x40=soo

1600 — 86 — 86 - 800 = 628cm?2
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